Equation List — P251 Final Exam

g = 9.81 m/s?, G = 6.67x10~" N-m?/kg?

v = vy + at, A:E:vot+%at2, v? = v} + 2aAr, sz%(v+vo)t
w=wy+at, A)=uwi+sat®, w?=w]+2aA, Af=1(w+ w)t

v=dz/dt, a=dv/dt, a.=V}/r, s=r0, v=wr, a=ar

SFog = Ma=dp/dt S7. =Id=dL/dt

F  L=Fxp=1Id
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. g: a;b; + ajbj + apbp, = |C_L"|Z_)“ cos 6

a x g: (ajbk — akbj)% — (aibk — akbl)j + (a,-bj - ajb,-)/;:

Ring: I = M R?; Solid disk: I = %MRQ; Solid sphere: I = %]\4}32
Hollow sphere: I = %MR2 Uniform bar: I = 1—12ML2
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Parallel-axis theorem: I = I, + M R?

r = (—b+ vb?— 4ac)/2a
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